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iR - F - HHE  Ei [Z5] iR - F - HE  Ei [ H]
TR 41 (40) — BRY 8:55 % 41 (40) 2 — IR 12:00
KA H i ?E Hard PR H i =8 Hard
2B —K/T 4=y a kiR -2.9C / -1.4C 2B —K/T 4=y a kiR 0.1°C / 1.8C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = N 157 N | = 155 D N GV N
1 1 09002124 %1% 1E+ T Ji M-y ) F-h 1:30.63 1:26.52 2:57.15
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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KA H i %"%’“ Hard PR HAL =8 Hard
2B —K/T 4=y a kiR -2.9C / -1.4C 2B —K/T 4=y a kiR 0.1°C / 1.8C
F=870
NEAL Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 2 09002072 FH B+ gl FZHNY=72%-RC 1:28.83 1:24.16 2:52.99
2 3 09002098 FRH BT g7 B I .DSSC 1:31.34 1:28.66 3:00.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0 \ N
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ISR - C - HH O O#&T [Z5] ISR - C - HH O [Z5]
ISR - D - A F I ~—T 4 [FF] ISR - D - FAF N =T 4 [FH]
ISR - F - A (57 5] ISR - F - A (57 5]
iR - F - HHE  Ei [Z5] iR - F - HE  Ei [ H]
TR 41 (40) — BRY 8:55 % 41 (40) 2 — IR 12:00
KA H i ?E Hard PR H i =8 Hard
2B —K/T 4=y a kiR -2.9C / -1.4C 2B —K/T 4=y a kiR 0.1°C / 1.8C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L 155 I S i N AV
1 4 09002076 4k JH3E = JAT VFSC 1:2550 1:22.21 2:47.71
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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ISR - C - HH O KT [Z5] ISR - C - HH O [Z5]
AiE# - D - A F I ~—T 4 [FF] AiE# - D - FAF N =T 4 [FH]
ISR - F - A (57 5] ISR - F - A L2=N
iR - F - HHE  Ei [Z5] iR - F - HE  Ei [ H]
TR 41 (40) — R 8:55 TP % 41 (40) — N HRFfE 12:00
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2B —K/T 4=y a kiR -2.9C / -1.4C 2B —K/T 4=y a kiR 0.1°C / 1.8C
F=870
NEAL Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 8 K EE = R AW 2 1:22.22 1:19.50 2:41.72
2 7 09002089 ¥EH 4T 5N B b AF—F—=4 1:30.41 1:25.16 2:55.57
DID NOT START [1st RUN] 1
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DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
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ISR - D - A F I ~—T 4 [FF] ISR - D - FAF N =T 4 [FH]
ISR - F - A (57 5] ISR - F - A (57 5]
iR - F - HHE  Ei [Z5] iR - F - HE  Ei [ H]
TR 41 (40) — R 8:55 TP % 41 (40) — N HRFfE 12:00
KA H i %"%’“ Hard PR H i %"%’“ Hard
2B —K/T 4=y a kiR -2.9C / -1.4C 2B —K/T 4=y a kiR 0.1°C / 1.8C
F=870
NERE Ap=b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héf ] AA 2k
1 10 09002078  ZHjE Hi = H< ESC 1:17.31 1:14.01 2:31.32
2 9 09002088 FEH: F =R B R AF—F—A 1:20.35 1:16.76 2:37.11
312 09002077 MO ME gl TR 7 VFYTST 1:28.24 1:21.48 2:49.72
4 11 09002074 A& HEF gl FZHNY=72%-RC 1:31.72 1:24.30 2:56.02
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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AiE# - D - A F I ~—T 4 [FF] AiE# - D - TA AN ~—T 4[]
ISR - F - A (57 5] ISR - F - A L2=N
iR - F - HHE  Ei [Z5] iR - F - HE  Ei (3 50]
TR 41 (40) — R 8:55 TP % 41 (40) — N HRFfE 12:00
KA H i ?E Hard PR HAL ?E Hard
2B —K/T 4=y a kiR -2.9C / -1.4C 2B —K/T 4=y a kiR 0.1°C / 1.8C
F=870
IEAL 25— =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 ﬁ ] AA 2k
1 14 09002109 @ —2E KB F=h+7 GV 1:15.86 1:11.96 2:27.82
2 13 09002450 AR B = TV )-=SC 1:15.99 1:12.68 2:28.67
3 15 09002090 LR N R D AESC 1:19.10 1:16.79 2:35.89
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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ISR - A - %M e [Z5] ISR - A - o e [Z5]
ISR - B - TR RER (57 5] ISR - B - BET RER (57 5]
ISR - C - HH O O#&T [Z5] ISR - C - HH O [Z5]
ISR - D - A F I ~—T 4 [FF] ISR - D - FAF N =T 4 [FH]
ISR - F - A (57 5] ISR - F - A (57 5]
iR - F - HHE  Ei [Z5] iR - F - HE  Ei [ H]
TR 41 (40) — BRY 8:55 % 41 (40) 2 — IR 12:00
KA H i ?E Hard PR H i =8 Hard
2B —K/T 4=y a kiR -2.9C / -1.4C 2B —K/T 4=y a kiR 0.1°C / 1.8C
F=870
NEAT Ag—b =N EEHEE 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = N 157 N | = 155 D N GV N
1 16 09002785  HfH 71 5N AT T 1:22.97 1:20.37 2:43.34
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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a— 2y K — A EH (57 5] a— 2ty H— [ 7 [ZH]
ISR - A - %M e [Z5] ISR - A - o e [Z5]
ISR - B - TR RER (57 5] ISR - B - BET RER (57 5]
ISR - C - HH O O#&T [Z5] ISR - C - HH O [Z5]
ISR - D - A F I ~—T 4 [FF] ISR - D - FAF N =T 4 [FH]
ISR - F - A (57 5] ISR - F - A (57 5]
iR - F - HHE  Ei [Z5] iR - F - HE  Ei [ H]
TR 41 (40) — BRY 8:55 % 41 (40) 2 — IR 12:00
KA H i ?E Hard PR H i =8 Hard
2B —K/T 4=y a kiR -2.9C / -1.4C 2B —K/T 4=y a kiR 0.1°C / 1.8C
F=870
NEAT Ag—b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 B B 4 1L 5 S
117 ER G =0 TS 1:30.96 1:25.50 2:56.46
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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